Data generation

Results by different regression approaches

— _ o)
oLS | DR =1 | DR ). = 23 | ODR | WODR | YR
Case Data True True R? Measurement slope intercept Slope Intercept Slope Intercept Slope Intercept Slope Intercept Slope Intercept
scheme Slope Intercept X,Y) error
1 4 0 0.67+0.03 LODpoc =1, 294+0.14 5844078 | 427+0.27 —145+1.36 | 401+025 —0.04+1.28 | 427+0.27 —145+1.36 | 3.98+0.22 1.124+£1.02 | 3.98+0.22 1.12+1.02
LODgc = 1,
2 4 3 0.67+£0.04 apoc =1, 295+0.15 8.83+0.80 | 4.32+0.28 1.28+1.43 | 4.01£0.26 2944134 | 4324028 1284143 | 3.9940.23 398+£1.05 | 3.99+0.23 3.98+1.05
agc = 1.
3 Chu 4 0 095+£0.01 LODpoc =0.5, 3.83£0.08 0954040 | 4.03+£0.09 —0.184+0.44 4£0.09 0£044 | 403£0.09 —0.18+£0.44 4+0.08 0.124+0.37 440.08 0.12+0.37
LODgc =0.5,
apoc =0.5,
agc =0.5.
4 4 0 0.78+0.02 LODpoc =1, 3.39+0.15 3.34+0.75 43+£021 —1.66+1.06 4+£0.19 —-0.03£0.99 43+021 —1.66+1.06 4£0.17 0.33+0.81 4+£0.17 0.33+£0.81
LODgc =0.5,
apoc = 1,
agc = 1.
5 4 0 0.69+£0.04  yyunc =30% 3324020 3.77+£0.90 | 475+£0.30 —4.14+136 | 401+£025 —0.04+1.13 | 475+£030 —4.14+1.36 4+£0.18 —0.01£0.59 4+£0.18 —-0.01£0.59
6 4 3 0.66 £0.04 331+£022 6.79+1.02 | 495+031 —226+1.48 | 3.99+0.26 3.05+1.22 | 495+031 —2.26+1.48 | 4.01+0.20 2.72+0.74 | 401+0.20 2.724+0.74
7 4 0 0.76 £0.01 3.224+0.03 43+0.14 | 4174£0.04 —0.94+0.18 4+0.03 0+£0.17 | 417+£0.04 —-0.94+£0.18 | 3.96+0.03 1.214+0.13 | 3.9640.03 1.214+0.13
8 4 3 0.75+0.01 322+£0.03 7.2940.14 42+0.04 1.88+0.18 4+0.03 34+0.18 42+0.04 1.88+0.18 | 3.97+0.03 4.11£0.13 | 3.97£0.03 4.11+£0.13
9 0.5 0 0.76+£0.01 LODpoc =1, 0.43+£0.00 0.3640.02 | 0.46+0.01 0.23+0.03 0.5+0.01 0£0.03 | 0.46+0.01 0.23+£0.03 0.5+0.00 0+0.01 0.5+0.00 0+0.01
LODgc = 1,
10 0.5 3 0.56+£0.01 apoc=1, 0.43+£0.01 3.3640.03 0.5+0.01 3.0240.04 | 0.4940.01 3.05+0.04 0.5+0.01 3.024+0.04 | 0.5140.01 2.73+0.03 | 0.5140.01 2.734+0.03
agc = 1.
11 1 0 0.76 £0.01 0.87+£0.01 0.7240.05 1£0.01 0+£0.06 140.01 0£0.06 1£0.01 0+£0.06 1+0.01 0+£0.02 1£0.01 0+£0.02
12 MT 1 3 0.66+£0.01 0.87+£0.01 3.7240.05 | 1.0940.01 2.524+0.07 | 0.9940.01 3.07+0.06 | 1.0940.01 2.5240.07 | 1.0140.01 2.71+0.04 | 1.014+0.01 2.7+0.04
13 4 0 0.76 £0.01  yypc =30% 3484+0.04 287+£0.18 | 453£0.05 —294+0.24 4£0.05 0£0.22 | 453£0.05 —294+0.24 4£0.03 0£0.09 4+£0.03 0£0.09
14 4 3 0.73+£0.01 3484+0.04 587+£0.19 | 467£0.05 —0.67£0.26 | 3.98+0.05 3.08+023 | 4674005 —0.67+0.26 | 4.024+0.03 2.68+0.11 | 4.02+0.03 2.68+0.11
15 0.5 0 0.54+0.01 04+£0.01 0.5540.03 | 0.4540.01 0.26+0.03 0.5+0.01 0.01+0.03 | 0.4540.01 026+£0.03 | 0.52+£0.01 —-023+£0.02 | 0.52+£0.01 —0.23+0.02
16 0.5 3 0.40+0.01 04+0.01 3.54+0.04 0.5+0.01 2.98+0.04 0.5+0.01 3+£0.04 0.5+0.01 2.98+0.04 | 0.52+0.01 2.65+0.04 | 0.52+0.01 2.65+0.04
17 1 0 0.65+0.01 0.8+£0.01 1.07+0.04 1+0.01 0+0.05 1+£0.01 0£0.05 1£0.01 0+0.05 1+0.01 0+0.04 1+0.01 0+£0.04
18 1 3 0.59+0.01 0.8+0.01 4.07+0.05 | 1.07+0.01 2.62+0.07 1+£0.01 3+0.06 | 1.07+0.01 2.62+0.07 | 1.02+0.01 2.84+0.05 | 1.02+0.01 2.84+0.05




